Efficiency vs dr

[ fake+duplicates vs AR |

x 02 x
g g
©0.18 @
> [
o 0.16 I
(0]
50.14 @
5 o
®0.12 2
s
0. S
$
X
0.08 3
0.06
|
0.04
0.02
o A 1 il I o
= —=— DQM_| mkFlt baseline_lowPT
g 1.0 L | —e— DQM_mkFit_baseline6iter_lowPT
—— DQM_mkFit_TT_RetrainV2_WP2_6iter ep3 lowPT
IGHITGIIGERRETRG i !lllllll ol
o oL L ALEIHILERAAITE IIIII|||||l|i|||||||||||
10™

1072

1
TP min AR

[ Efficiency vs dr (track,jet) |

§ 0.1

0 0.09

=

o

z 0.08

£20.07

>

20.06

@

o

£ 0.05]

3]
0.04
0.03
0.02

0.0

1072 107
AR(TP, jet)

0.2

.........................

Ratio

90 100
Pileup

095655640 50 60 70 80

track min AR

[ fake+duplicates vs AR(track, jet) |
= 0.5

0.2

©
O
= O

take+duplicates

0.05

Ratio
=

1072 107
AR(track, jet)

5 05
a
g0.45
[6]
5 0.4
£0.35
I
S 03
Q.
30.25
5
E 0.2
0.15
0.1
0.05]
o 0
T 1
@

40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


